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White

Year 4| Autumn Term | Week 8 to 9 - Measurement: Length & Perimeter

Overview

Small Steps Notes for 2020/21

We've added extra time in autumn
term to look at content children
have likely missed at the end of
Y3, particularly on metric units
and conversion between them.

J

- Equivalent lengths - m and cm
Equivalent lengths - mm and cm
=l Kilometres
Add lengths
=l Sybtract lengths

Q00 00

This is often a skill children find
difficult to remember and grasp,
so we think this extra time will be
useful.

Measure perimeter
=l Perimeter on a grid

Perimeter of a rectangle

sl Perimeter of rectilinear shapes
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Year 3| Spring Term | Week 7 to 9 - Measurement: Length & Perimeter .

Equivalent Lengths - m & cm

Notes and Guidance Varied Fluency

Children recognise that 100 cm is equivalent to 1 metre. They . If a 10 cm, calculate the missing measurements.

use this knowledge to convert other multiples of 100 cm into g o f
metres and vice versa. 0o l l l o em

N s N s I

When looking at lengths that are not multiples of 100, they

partition the measurement and convert into metres and b cm c cm 1 metre 1 mcm
centimetres. At this stage, children do not use decimals. This is
introduced in Year 4. . Can you match the equivalent measurements?

100 cm 9m
Mathematical Talk 5m 200 cm

300 cm / 500 cm
If there are 100 cm in 1 metre, how many centimetres are in 2 2m 1 metre
metres? How many centimetres are in 3 metres? 900 centimetres 3m

. Eva uses this diagram to convert between
centimetres and metres.
Use Eva's method to convert:

Do we need to partition 235 cm into hundreds, tens and ones
to convert it to metres? Is it more efficient to partition it into
two parts? What would the two parts be?

A 130 cm 120 em
If 100 cm is equal to one whole metre, what fraction of a metre A 230 cm e e
would 50 cm be equivalent to? Can you show me this in a bar A 235cm
odel? A 535 cm Tm 20 cm
3 A 547cm 1m 20 cm
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White

Year 3| Spring Term | Week 7 to 9 - Measurement: Length & Perimeter

Equivalent Lengths - m & cm

Reasoning and Problem Solving

Mo and Alex each have a skipping rope. Alex is correct Three children are partitioning 754 cm Whitney and Jack
because her are both correct.
Alex says, | have the longest skipping rope is Teddy says, Teddy has
skipping rope. My 250 cm long 475 el 4er ] incorrectly
skipping rope is 2 - which is 30 cm - converted from
metres long. more than 220 Whitney says, cm to m when

cm

: partitioning.
Mo says, 47 m and 54 cm ]

My skipping rope is
the longest because

00 itis 220 cm and 220
o
& is greater than 2 - @ 54 cmand /m

Who is correct? Who is correct?
Explain your answer. Explain why.

Jack says,
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White

Year 3| Spring Term | Week 7 to 9 - Measurement: Length & Perimeter

Equivalent Lengths - mm & cm

Notes and Guidance Varied Fluency

Children recognise that 10 mm is equivalent to 1 cm. They use . Fill in the blanks.

this knowledge to convert other multiples of 10 mm into —mm mm
centimetres and vice versa. 0 mm l
|
|

When looking at lengths that are not multiples of 10, they | R

partition the measurement and convert into centimetres and 0cm Tem
millimetres. At this stage, children do not use decimals. This is E b €] E
introduced in Year 4. N ; 5 - a=___ctm___mm
\\ ': \ \‘ b= cm mm
. Lot bepee i L e=——em__mm
Mathematical Talk T T[T 9o em mm
Ocm Tem 2cm

What items might we measure using millimetres rather than

Measure different items around your classroom.
centimetres?

Record your measurements in a table in cm and mm, and just mm.

If there are 10 mm in 1 cm, how many mm would there be in

. Complete the part whole models.
2.cm?

How many millimetres are in —cm? @ @
How many different ways can you partition 54 cm? e @ e
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Year 3| Spring Term | Week 7 to 9 - Measurement: Length & Perimeter

Equivalent Lengths - mm & cm

Reasoning and Problem Solving

Rosie is measuring a sunflower using a Rosie is incorrect. Ron is thinking of a measurement. Ron is thinking of
30 cm ruler. She has used the Use his clues to work out which 84 mm (8 cm and
Rosie says, wrong unit on the measurement he is thinking of. 4 mm)

e The sunflower ruler. . ¢ A Inmm, my \
g is 150 cm tall. The sunflower is — ] vy S

15 cm tall or 150 a multiple of 2

Rosie is incorrect. mm tall It has 8 cm and
Explain what mistake she might have some mm
made. It's less than 85

How tall is the sunflower? mm

In mm, the digit

A
A
A
\ sum is 12 /
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Year 4 | Autumn Term | Week 8 to 9 - Measurement: Length & Perimeter .

Kilometres

Notes and Guidance Varied Fluency

Children multiply and divide by 1,000 to convert between . Complete the statements.
kilometres and metres.

They apply their understanding of adding and subtracting 5000m ___km 8km __m

with four-digit numbers to find two lengths that add up to a 5km ___m 3km 6km ___ 0 m
whgle number of kilometrgs. | | 500m __ km 250 m km

Children find fractions of kilometres, using their Year 3

knowledge of finding fractions of amounts. Encourage children 9500m __km 4500m 2000m ___km

to use bar models to support their understanding. . l ] ‘el
Complete the bar models.

Mathematical Talk 3 kilonetres —_km
1,800 metres 2,870 m 4130 m

Can you research different athletic running races? What

different distances are the races? Can you convert the distances . Use , or tomake the statements correct.

from metres into kilometres? Which other sports have races

over distances measured in metres or kilometres? 500 m O -km

If 10 children ran 100 metres each, how far would they run

altogether? Can we go outside and do this? How long do you 7km O 800 m

think it will take to run 1 kilometre? 5 km O 500 m

How can we calculate half a kilometre? Can you find other

fractions of a kilometre?
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Year 4 | Autumn Term | Week 8 to 9 - Measurement: Length & Perimeter .

Kilometres

Reasoning and Problem Solving

Dexter and Rosie walk 15 kilometres
altogether for charity.

Rosie walks double the distance that
Dexter walks.

How far does Dexter walk?

Dexter and Rosie each raise £1 for every
500 metres they walk.
How much money do they each make?

Rosie walks 10 km. Complete the missing measurements so
that each line of three gives a total
Dexter walks 5 km. distance of 2 km.

Rosie raises £20

Dexter raises £10

©White Rose Maths



